Day 5 Notes: Trigonometric Ratios & Pythagorean Theorem

i 1.8
Trig Ratios
Sine: SinA= ,o_p_g-
Cosine: cosA= ad) mp ) W

Tangent: tan A = opp ' w‘

Reciprocal Trig Ratios
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Secant: secA= i h/\l%
cos ud
Cotangent: cot A = t——; =4 )
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EX.
1. Find all 6 trigonometric ratios of the following: 3 5
4 d sinA = -ij' cscAz 3
Az & Az
e : COS A= S seCc A= q
q
tan A = -f-l- cot A= 3

Pythagorean Theorem: a® + b? = ¢?

aand b: \ng of D & h\lmtm(gpqo" A

Solve for the missing side.
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Rationalizing Denominators

Solve the first 15 perfect square roots.
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Find each ratio. Rationalize the denominator when possible.
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Rationalize each denominator. When possible, simplify by reducing the resulting fraction.
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